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Which one of the following health and
wellbeing lifestyle determinants, an

individual has the maximum control?

(A) Healthcare system

(B) Social and cultural

€ Heredity and age

D) Personal interactions

How many components do physical fitness
have?

(A) Five

(B) Four

(9] Three

(D)  Six

According to UNESCO, “Physical education
forms a foundation for positive patterns of
behavior and is the best way to access and
systematically engage children and youth
in a rounded and healthy lifestyle." Which
of the following is not a /an positive lifestyle

aspects ?

(A) Increases self-confidence
(B) Helps in coping with stress
(€ Elevates depression

D) Increases the level of energy

What is the another name of
synchronisation?
(A) Speed
(B) Coordination
©) Strength
(D)

D Endurance
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What is the suppleness called in another
words?

(A) Speed

(B) Strength

(C) Endurance

D) Flexibility

Which of the following is not a component
of skill related physical fitness?

(A) Agility
(B) Muscular strength
€ Coordination

D) Reaction time

The percentage of fat, bone, water and
muscle in human body is called :

(A) Muscular endurance

(B) Muscular strength

(C) Body composition

D) Flexibility

The ability to overcome resistance for longer
duration is called :

(A) Speed

(B) Strength

(@) Endurance

D) Flexibility

The ability of body to execute movements
with greater amplitude or range is called :

(A) Strength

(B)  Flexibility

©) Body composition
D) Stamina

(4)

AT B GEAT = H FET Fed

(A)

(B)  drhd

C) G
D) =

HE-A1 O R Racs fhmRa
fheag a@ et 37

(A) YT

(B)  HEEH &
(C) TSI
0)  Ruwe o=

Mg SRR H g4, o1Re, ST aer Uit
& IfGId FHeA B

A U HeeeR
B) U fE

C) R @

D) A

e Y qh ST B G B B
BT FEl S ©

A T

B) g

C) G
D) @A

Tfeep ST a1 9 % 9 GEed Rl
fFroRa #0 3 T IO & | A
el T ®

A R

B) I
C) R @
©) =R



10. The ability to overcome resistance is
called :
(A) Muscular strength
(B) Muscular endurance
©) Flexibility
D) Body composition
1. The aim of health related fitness is to
prevent :
(A) Power
(B) Way
©) Capacity
(D) Diseases
12. Which one of the following activities is part
of locomotor skills?
(A) Running
(B) Pranayam
(C) Solving Sudoko
D) Meditation
13. What is not a mineral?
(A) Calcium
(B)  Znk
© Copper
D) Protein
14. The source of Vitamin ‘A’ is :
(A) Carrot
(B)  Apple
© Raw Mango
D) None of these
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15. Which of the following is source of Vitamin
‘B?
(A) Mango
(B) Rice
© Chilli
D) None of these
16. The contraction which shows changes in
length is :
(A) Isotonic
(B) Isometric
©) Isokinetic
D) None of these
17. Jogging is a part of :
(A) Continuous Training
(B) Weight Training
©) Interval Training
D) None of these
18. Which is not included in circuit training?
(A) Squat jump
(B) Strike jump
©) Pull ups
D) Step ups
19. The principle of use and disuse is known
as:
(A) Balance in stress and rest
(B) Progression principle
(@) Principle of overload
D) None of these
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20. Which Swedish term means in speed play?
(A)  Circuit
(B) Interval
) Fartlek
D) None of these
21. The example of Isokinetic is :
(A) Cycling
(B) Jumping
©) Throwing
D) None of these
22. Overtraining causes :
(A) Fatigue
(B)  Rest
©) Recovery
D) Tapering
23. Age and sex differences are considered
in:
(A) Overload
(B) Specificity
©) Individuality
D) Periodization
24. Principle of overload shows :
(A) Fatigue
(B) Recovery
©) Energetic
D) None of these
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25. Which is combination of speed?
(A) Explosive strength
(B)  Flexibility
©) Endurance
D) None of these
26. Strength endurance can be developed
with
(A) Circuit Training
(B) Plyometric Training
€ Conditioning
D) None of these
27. What should a casualty with a severe allergy
carry at all time?
(A) Insulin
(B) Acetaminophen / Paracetamol
€ Adrenaline (Epipen)
D) Aspirin
28. What is a Faint?
(A) A response to fear
(B) An unexpected collapse
©) A brief loss of consciousness
D) A sign of Flu
29. What are the symptoms of third degree
burn?
(A) Charred Skin and no pain
(B) Blisters and pain
©) Red and pain
D) Grey and pain
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30. What is your first action when examining the
condition of a patient?
(A) Check for breathing
(B) Check for insurance
() Speak to the victim and shake his
shoulders
D) None of these
31. What do you do for small cut?
(A) Only cover with a sterile bandage
(B) Clean the wound with cotton wool
) None of these
D) Wash with soap and water, cover
with a sterile bandage
32. What do you do if someone suddenly
begins to bleed severely?
(A) Tell them to lick out the blood
(B) Apply pressure to the wound
€ Scream and Run
D) None of these
33. What piece of equipment may be used to
strengthen the ankle and knee following
injury?
(A) Dumbbells
(B) Barbell
(9] Stability disc
D) Punch bag
1113-A/160

(9)

30.

31.

32.

33.

At 1 Rafa #H JE FQ qTHI MR
Tedll FrEarel F erl ?

(A) G B A BT
B) ARG PN IAFH BN

€ K ¥ S HEW SR SHD
&Y P oA

0) & q & T
3T BIR %e 3 U F1 Hq 27
(A) %A TF TS & G FaAT B

B) a H g R ¥ § Aw
FHE

C) T & FE T

(D) °F & YT I F 4N
T el @ FHax Bl

SR fopdl Sl bl TeTeh Sge SgreT
G A T QAN T T HA oF

(A) % G =R B FN
(B) U@ &I I & A §§ HAT
(C)  HETFT SR ARFFT

D) ™ q B T

9c $ T8 <@ R geA @ AeEd
F B T o SUHT H1 SN B
ST G & 7

A s

B) SRS

C)  ferar fe&n

O) d9= I

[P.T.0.]



34. Which of these is not a piece of Physio
equipment?
(A) Swiss Ball
(B) Medicine Ball
(C) None of these
D) Kettle
35. Which of these is not an exercise of the
knee?
(A) Prone Knee bend
(B) Calf raises
© Quadriceps tensing
D) Crunch
36. Which of the following is an exercise for the
Back?
(A) Arching
(B) Biceps Curl
©) Calf raise
D) None of these
37. If someone has a broken bone, which of
the following statement is true?
(A) If we do not support the limb, it
doesn’t matter
(B) If we do not support the limb, it may
cause further injury and pain
©) Call the doctor
D) None of these
38. When was the word first-aid used?
(A) 1869
(B) 1890
© 1879
D) 1905
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39. How many categories are there in sports
injuries?
(A) 2
(B) 5
©) 4
D) 3
40. Dislocation is related to :
(A) Joint Injury
(B) Skin Injury
©) Muscular Injury
D) Bone Injury
41. Overstraining of ligaments cause is :
(A) Strain
(B) Contusion
€ Sprain
(D) Bruises
42. What is the aim of first aid?
(A) To preserve life
(B) To Prevent deterioration
©) To speedy recovery
(D) All of these
43. Method of training for power or
explosiveness is :
(A) Fartlek
(B) Plyometric
©) Circuit Training
D) None of these
44. Which is Jumping event?
(A) Pole Vault
(B) Discus
©) Shot Put
D) Javline Thro
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45, Aerobic exercise contribute to be
development of :
(A) Strength
(B) Agility
©) Speed
D) Endurance
46. What is the longest cycle method of training?
(A) Micro
(B) Meso
(@) Macro
D) None of these
47. The ability to overcome resistance :
(A) Strength
(B) Endurance
©) Flexibility
D) All of these
48. Flexibility developing best method is :
(A) Hold only
(B) All of these
©) None of these
D) Slow stretch and Hold
49. Circuit training is an effective method for
developing :
(A) Strength Endurance
(B) Speed
©) Flexibility
D) None of these
50. Plyometric is also called :
(A) Reactive Jump
(B) Push up
©) Running
D) None of these
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51. Hypokinetic diseases are also called :
(A) Mental disease
(B) Psychological disease
©) Physical disease
D) Life style disease
52. Attention Deficit Hyperactivity Disorder
(ADHD) is a childhood disorder known
as:
(A) Hypokinetic disorders
(B) Hyperactivity disorders
©) Hyperkinetic disorders
D) None of these
53. Which of the following are risk factors for
childhood psychiatric disorder?
(A) Parental Psychopathology
(B) Repeated early separation from
parents
©) Harsh or inadequate parents
D) All of these
4. How can Hypokinetic disease be
prevented?
(A) Good nutrition
(B) Rest
(@) Stress management
D) All of these
95. What does aerobic exercise mean?
(A) Exercise while the body is able to
supply oxygen
(B) Exercise that require use of the
body
(9] To get fit
D) None of these
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56.  Anaerobic exercise definition :
(A) Target heart rate
(B) To exercise uncontrollably
) Exercise that requires use of the
body
D) Muscles weighs more
57. What does THR stands for?
(A) The Hard Rate
(B) Target Heart Rate
(C) Try Hard Rate
D) None of these
58. Progression of an Aerobic workout :
(A) Warm up, Stretch, Cooldown, Heart
of work out, Stretch
(B) Warm up, Stretch, Heart of workout,
Cooldown and Stretch
(C) Cooldown, Heart of workout, Stretch
D) All of these
59. Which of the following are examples of
Psychological Environment?
(A) Habits
B) Education
©) Beliefs
D) All of these
60. What instrument measures joints?
(A) Protractor
(B) Goniometer
©) Measuring Tape
D) Scale
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61. A person’s ______is a visual guide to his
or her body alignment.
(A) Posture
(B) PROM
€ Weight
D) Speed
62. Depth Jump improves :
(A) Leg Strength
(B) Speed
€ Leg endurance
D) Leg coordination
63. Best season of Fartlek training is :
(A) Transitional season
(B) Off season
€ Cold season
D) None of these
64. Interval training is good for :
(A) Off season
(B) Cold season
(C) Pre season
D) None of these
65. Duration of Macro Cycle is :
(A) 2 Weeks
(B) 2 Days
©) 1 Month
D) More than 1 Year
66. What is the worldwide prevalence of
obesity?
(A) 14 %
(B) 5%
©) 12 %
D) 13 %
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67. Which one of the following is not the
component of health related fithess?
(A) Body Composition
(B) Cardiovascular Endurance
(C)  Flexibility
D) Speed
68. Explosive strength is :
(A) Flexibility and speed
(B) Speed and strength
(C) Endurance and speed
D) None of these
69. The ability of covering the maximum distance
in minimum time is :
(A) Endurance
(B) Speed
©) Strength
(D)  Flexibility
70. Where does U.A.E. Rank in the World
Obesity Ranking?
A 30
B) 25
©) 10
D) 18
7. Why is it so hard to exercise?
(A) Lack of time
(B) Lack of motivation
©) Too expensive
D) None of these
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72. Sweet breath, good appetite, sound sleep
are the signs of :
(A) Social Health
(B) Spiritual Health
©) Physical Health
D) Mental Health
73. Ability of on self to see as a member of
society is the characteristic of :
(A) Social Health
(B) Spiritual Health
©) Physical Health
D) Mental Health
74. Characteristics of mental health are :
(A) Self Satisfaction
(B) Adjustment
©) Self Control
(D) All of these
75. The factors which determine health is :
(A) Disability rate
(B) Mortality rate
€ Morbidity rate
D) Heredity
76. ldeal Health indicators should be :
(A)  Valid
(B) Reliable
€ Specific
D) All of these
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7. The three causative factors of disease agent,
host and environment are called :
(A) Disease history
(B) Pathogenesis
) Prepathogenesis
D) Epidemiological triad
78. Rehabilitation is mode of intervention at level
of :
(A) Primary Prevention
(B) Secondary Prevention
) Tertiary Prevention
D) None of these
79. Which of the following is characteristic of
mental health?
(A) Fear
(B) Anger
(9] Self-control
D) Worries
80. Health Promotion and Specific Protection
is mode of intervention at level of :
(A) Primary Prevention
(B) Secondary Prevention
(9] Tertiary Prevention
D) None of these
81. Which of the following disease causative
agent is categorized under social agent?
(A) Electricity
(B) Vitamins
(9] Bacteria
D) Poverty
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frfaiaa ® & B9-81 W HRE Toie &
T8 IR Toie & STt aFtiged fha
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(A) el

B) e

C)  SFAfREm

D)  Th&t



82. Performing daily chores without any fatigue
is
(A) Mental Wellness
(B) Dynamic Ability
€ Physical Fitness
D) None of these
83. Which of the following is not a component
of physical fitness ?
(A) Endurance
(B) Alertness
(©) Strength
D) Agility
84. Coordinative abilities primarily depend
upon the :
(A) Respiratory System
(B) Digestive System
©) Central Nervous System
D) Circulatory System
85. The maximum effort made of lift a weight is
called :
(A) Explosive Strength
(B) Endurance
(@) Speed
D) Maximum Strength
86. The ability to maintain one’s equilibrium while
the body is in motion :
(A) Balance
(B) Dynamic Balance
(@) Speed
D) None of these
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fom TRt e % 3 FE FT R

(A)  HAFREE e

(B)  SENM® TlSfrer

C) IRIR® @

0D) T & B Tl

Frfeed & -a1 SRS fhead &
qeh el &7

(A) el

(B)  3FTed

C) e

(O) =i

I &HaT g ' q R Rl
I

(A) O T W
(B) URM dF W
C) = A o W
O) o GRERRTT dF W

fhll X @ Jem & fou fFr
JTHTT JI el § ¢

@) foepes i
(B) AL

C)

D)  oiftehaw S

R T § B W G I T
BT Rl © -

(A)  Ege

(B)  TeiSieT Heer™
C) i

0D) I & B Tl
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87. Which of these affects the physical fithess
of an individual?
(A) Puberty
(B) Weakness
(@) Heredity
(D) All of these
88. Coordination in the nervous system and
muscles is :
(A) Endurance ability
(B) Speed ability
©) Coordinative ability
D) None of these
89. Why physical fitness is importance for a
person?
(A) Overall health
(B) Boost energy
€ Pantonality development
(D) All of these
90. The ability to change direction quickly while
the body is in motion is :
(A) Speed
(B)  Agility
(C)  Flexibility
D) None of these
91. A lot of sitting and very little exercise :
(A) Exercise
(B) Aerobic Exercise
(@) Anaerobic Exercise
D) Sedentary
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T8 9 B A B ARIRE e H
T T § 7

(A) e
B)  FHHI
(C)  dumg
O) ¥ |

(A)  eSIeRT &
(B) T &
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(A)

B) FE ™
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(B) T
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92. How many types of flexibility are there ? 92.
A 2
B) 4
G 5
© 3
93.  Exercising for longer duration with less 93
weight is related to :
(A) Endurance
(B) Strength
(@) Speed
(D) All of these
94.  Which physical fitness testis used toassess 24
cardiovascular endurance ?
(A) Pushups test
(B) Sit and Reach test
(©) Sit-ups test
D) Cooper Run test
95. Circuit Training was invented by : 95.
(A) Morgan and Anderson
(B) Aristotle
(@) Harvest
D) None of these
96. Pyramid Training was invented by : 06.
(A) Russian
(B) German
(C)  Swedish
D) American
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97.  Aerobic fitness is best achieved through :  97.  TRIS® fthend & 1Y 999 37261 M

T 87
(A) Swimming
A Rt
(B) Circuit Training B) o
© Short Sprint (C) e e
D) Long Distance Race D) A fee= IS

98.  Adaptation to training load at high 98. I=a SfewlTT W UREO 9 % fag

attitude : PRI ©

(A)  Thermoregulation A FERIE

(B)  Super compensation (B) YW HYTEIN

(C)  None of these C) T | B &

D)  Acclimatization D) UM
99.  Who coined Isokinetic method? 99. T fafey e & 7

(A)  Plato A @

(B)  J. Parrine B) . WEA

(C)  B.P. Coubertin C) &t . @EiS

(D)  None of these D) =™ ¥ Fig &
100.  Stediometer measures 100. wfRAMIEX 1 AIqar ¢ ?

(A)  Strength A R

(B)  Weight B) 9K

(C)  Height € =B

(D)  None of these D) = q Fig &
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

10.

11.
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